

АЛГЕБРАСЫН ИЗРАЗЫ

А

$$a^2 - b^2 = (a - b)(a + b)$$

$$(a + b)^2 = a^2 + 2ab + b^2$$

$$(a - b)^2 = a^2 - 2ab + b^2$$

$$(a + b)^3 = a^3 + 3a^2b + 3ab^2 + b^3$$

$$(a - b)^3 = a^3 - 3a^2b + 3ab^2 - b^3$$

$$a^3 - b^3 = (a - b)(a^2 + ab + b^2)$$

$$a^3 + b^3 = (a + b)(a^2 - ab + b^2)$$

Нөхцө
явуулах

$$a^n \cdot b^n = (a \cdot b)^n$$

$$\frac{a^n}{b^n} = \left(\frac{a}{b}\right)^n$$

$$(a^n)^{n \cdot k} = a^{n \cdot k}$$

$$a^n \cdot a^m = a^{n+m}$$

$$a^{-n} = \frac{1}{a^n}$$

$$a^{-1} = \frac{1}{a} \quad (a > 0)$$

$$a^0 = 1$$

$$a^{\frac{m}{n}} = \sqrt[n]{a^m}$$

$$\frac{a^m}{a^n} = a^{m-n}$$

$$\sqrt{x^2} = |x| \quad (\text{баримт!})$$

...

$$\left(\frac{x}{y}\right)^{\frac{t}{z}} = \frac{x \cdot t}{y \cdot z}$$

...

$$\frac{x}{y} : \frac{t}{z} = \frac{x}{y} \cdot \frac{t}{z} = \frac{x \cdot t}{y \cdot z}$$

...

$$\sqrt[m]{\sqrt[n]{x}} = \sqrt[m \cdot n]{x}$$

Пр.

Сimplify expression, if possible.

5

$$A = \left(\frac{2^{-4} - 3^{-4}}{2^{-1} - 3^{-1}} (2^1 + 3^1)^{-1} - 3^{-1} \cdot 81^{-(2^2)^{-1/2}} \right)$$

$$A = \left(\frac{(2^{-1} - 3^{-1})(2^1 + 3^1)(2^2 + 3^2)}{(2^{-1} - 3^{-1})(2^1 + 3^1)} - 3^{-1} \cdot 81^{-\frac{1}{4}} \right)^{-\frac{1}{2}}$$

$$= \left(2^{-2} + 3^{-2} - \frac{1}{3} \cdot \frac{1}{\sqrt[4]{81}} \right)^{-\frac{1}{2}} = \left(\frac{1}{4} + \frac{1}{9} - \frac{1}{9} \right)^{-\frac{1}{2}}$$

$$= \left(\frac{1}{4} \right)^{-\frac{1}{2}} = \frac{1}{4^{-1/2}} = \frac{1}{\frac{1}{\sqrt{4}}} = 2 \cdot \square$$

Пр.

$$\frac{(0.5 : 1.25 + \frac{7}{5} : 1\frac{4}{7} - \frac{3}{11}) \cdot 3}{(1.5 + \frac{1}{4}) : 18\frac{1}{3}} = \frac{\left(\frac{1}{2} \cdot \frac{4}{5} + \frac{7}{5} \cdot \frac{7}{11} - \frac{3}{11} \right) \cdot 3}{\left(\frac{3}{2} + \frac{1}{4} \right) \cdot \frac{3}{55}} =$$

$$= \frac{\frac{2}{5} + \frac{49}{55} - \frac{3}{11}}{\frac{7}{4 \cdot 55}} = \frac{\frac{22 + 49 - 15}{55}}{\frac{7}{4 \cdot 55}} = 32$$

Пр.

$$\left((3\sqrt{2} - 4)^{-1} - (3\sqrt{2} + 4)^{-1} \right) : \left(\frac{1}{5 + 2\sqrt{6}} + 5 - 2\sqrt{6} \right) =$$

$$= \left(\frac{1}{3\sqrt{2} - 4} - \frac{1}{3\sqrt{2} + 4} \right) : (5 - 2\sqrt{6} + 5 - 2\sqrt{6})$$

$$= \frac{3\sqrt{2} + 4 - 3\sqrt{2} + 4}{2} \cdot \frac{1}{2(5 - 2\sqrt{6})} = 2 \cdot \frac{5 + 2\sqrt{6}}{1} = 10 + 4\sqrt{6}$$

$$\frac{(a-b)^2 + 3ab}{a^3 - b^3} \cdot \frac{a^2 - b^2 - a + b}{a^2b + ab^2 - ab} =$$

$$= \frac{a^2 - 2ab + b^2 + 3ab}{(a-b)(a^2 + ab + b^2)} \cdot \frac{(a-b)(a+b) - (a-b)}{ab(a+b) - ab}$$

$$= \frac{\cancel{a^2 + ab + b^2}}{\cancel{(a-b)}(\cancel{a^2 + ab + b^2})} \cdot \frac{\cancel{(a-b)}(a+b-1)}{ab\cancel{(a+b-1)}} = \frac{1}{ab}$$

Пр. (a > 0)

$$\left(\frac{\sqrt{a}}{1+a} \right)^{-1} + \sqrt{\left(1 - \frac{1}{a}\right)(a-1)} =$$

— obo je
gde funkcion
za a > 0

$$= \frac{1+a}{\sqrt{a}} + \sqrt{\frac{(a-1)^2}{a}} =$$

$$= \frac{1+a}{\sqrt{a}} + \frac{|a-1|}{\sqrt{a}} = \frac{\cancel{1+a} + |a-1|}{\sqrt{a}} = \begin{cases} 2\sqrt{a}, & a > 1 \\ 2, & a = 1 \\ \frac{2}{\sqrt{a}}, & a < 1 \end{cases}$$

Пр. (x > 0)

$$\sqrt{x \sqrt{x \sqrt{x \sqrt{x}}}} = \sqrt{x \sqrt{x \sqrt[4]{x^3}}} =$$

$$= \sqrt{x \sqrt[8]{x^7}} = \sqrt[16]{x^{15}} = x^{15/16}$$

или $\sqrt{x \sqrt{x \sqrt{x \sqrt{x}}}} = \left(x \left(x \left(x \cdot x^{1/2} \right)^{1/2} \right)^{1/2} \right)^{1/2} = \left(x \left(x \cdot x^{3/4} \right)^{1/2} \right)^{1/2} = \left(x \cdot x^{7/8} \right)^{1/2} = x^{15/16}$

Пр.

Г

$$\frac{a^2 - b^2}{a - b} - \frac{a^3 - b^3}{a^2 - b^2} =$$

$$= \frac{\cancel{a-b}(a+b)}{\cancel{a-b}} - \frac{\cancel{a-b}(a^2+ab+b^2)}{\cancel{a-b}(a+b)} =$$

$$= a+b - \frac{a^2+ab+b^2}{a+b} =$$

$$= \frac{(a+b)^2 - a^2 - ab - b^2}{a+b} = \frac{\cancel{a^2} + \cancel{2ab} + \cancel{b^2} - \cancel{a^2} - \cancel{ab} - \cancel{b^2}}{a+b}$$

$$= \frac{ab}{a+b} \cdot \square$$